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It costs 80p for a child
to go swimming.

How much does it cost for
6 children to swim?
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A jigsaw costs 65p.

How many can you buy
with £2?
How much change will
you get?
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What is the total cost of:

£4.70 for a book 

£6.10 for a game

       ?
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I think of a number, add 2
then multiply by 3.

The answer is 15.

What was my number?
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There are 36 children in the 
class.
Half of them have flavoured
crisps.
One third of them have plain
crisps.
How many children have 
crisps?
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There are 4 stacks of plates.
3 stacks have 15 plates each.
1 stack has 5 plates.

How many plates are there
altogether?
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